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CC Algebra

Cumulative Review #2.6
Show work for all questions for full credit 

& write your answers on the lines provided!!!

(If you feel no work is needed you must explain your reasoning.)

1. Which of the following expressions is equivalent to 
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A.  4x – 3 




B.  4x + 1


C.  6x + 3


D.  6x – 4 

1.  ______________

2.  Given the relation {(8, 2), (3, 6), (7, 5), (k, 4)}, which value of k will 

      result in the relation not being a function?

A.  1

B.  2

C.  3

D.  4
2.  ______________

3. The cost of 3 markers and 2 pencils is $1.80. The cost of 4 markers and 6 pencils is $2.90. What is 
     the cost of each item? Include appropriate units in your answer.

4.  Find the equation of the line that passes through the points in y = mx + b form.

(1, 7) and (4, 22)
4.  _____________________

5.  A water tank is being filled by pumps at a constant rate. The volume of water in the tank V, in 
     gallons, is given by the equation:

V(t) = 65t + 280, where t is the time, in minutes, the pump has been on

(a) What is the volume in the tank after two hours of the pumps running?

5a.  ____________________

(b) The pumps will turn off when the volume in the tank hits 10,000 gallons. To the nearest minute, 
      after how long does this happen?










5b.  ____________________
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